Informational Report for the July 17, 2012 Board of Trustees Meeting

			New Emp to			Pav			Maximum	Assian	Assign
First Name	МІ	Site	-	Duties	Division	Туре	Pay Rate Ma	ximum		_	End Date
unity Educatio	n			To toach Sign							
				-							
				education students	Community						
Sasha	G.	Chabot	No		Education	Hourly	\$25.00	8.75	\$218.75	7/2/2012	7/31/2012
				To teach Chemistry							
				education students	Community in						
Carlos	C	Chabot	No			Hourly	\$45.00	52 F	\$2 362 50	7/2/2012	7/13/2012
Callos	0.	Chabot	INO	To teach Tae Kwon	Luucation	riouriy	φ+3.00	52.5	ψ2,302.30	112/2012	7/13/2012
				education students							
					Community						
Rudolfo	S.	Chabot	No		Education	Hourly	\$35.00	16	\$560.00	6/12/2012	7/31/2012
				-							
					Community						
Emorlita	Δ	Chabot	No	education students		Hourly	\$35.00	16	\$560.00	6/12/2012	7/31/2012
Lineinta		Chabot	INO	To teach Math and	Luucation	Tiouriy	\$33.00	10	φ300.00	0/12/2012	7/31/2012
				the Kids on							
				Campus Program	Community						
Ashley	R.	Chabot	Yes		Education	Hourly	\$35.00	37	\$1,295.00	6/25/2012	7/20/2012
					Community						
Nancy	S.	Chabot	No			Hourly	\$45.00	30	\$1.350.00	6/5/2012	8/2/2012
	unity Educatio	Carlos G. Rudolfo S. Emerlita A. Ashley R.	Image: solution Image: solution Sasha G. Chabot Carlos G. Chabot Rudolfo S. Chabot Emerlita A. Chabot Ashley R. Chabot	First Name MI Site Emp to unity Education	First NameMISiteEmp to DistrictDutiesunity Education	First NameMISiteEmp to DistrictDutiesDivisionunity EducationIIIIIunity EducationIIIIISashaG.ChabotNoTo teach Sign Language to community education studentsCommunity EducationSashaG.ChabotNoTo teach Chemistry and Engineering to community education studentsCommunity EducationCarlosG.ChabotNoTo teach Tae Kwon 	First Name MI Site Emp to District Duties Division Pay Type Image: Sasha G. Chabot No To teach Sign Language to community education students Community Education Hourly Sasha G. Chabot No To teach Chemistry and Engineering to community education students Community Education Hourly Carlos G. Chabot No To teach Tae Kwon Do to community education students Community Education Hourly Rudolfo S. Chabot No To teach Ball Room Dancing to community education students Community Education Hourly Emerlita A. Chabot No To teach Math and Language Arts for the Kids on Campus Program Community Education Hourly	First NameMISiteEmp to DistrictDutiesDivisionPay TypePay RateMay Mayinity Educationinityin	First NameMISiteEmp to DistrictDutiesDivisionPay TypePay RateMaximumunity Education	First NameMISiteEmp to DistrictDutiesDivisionPay TypePay RateMaximumMaximumunityEducation	First NameMISiteEmp to DistrictDutiesDivisionPay TypePay RateMaximumMaximumAssign Beg. Dateunity Education

Informational Report for the July 17, 2012 Board of Trustees Meeting

				New Emp to			Pay			Maximum	Assign	Assign
Last Name	First Name	мі	Site	District	Duties	Division	Туре	Pay Rate	Maximum	Amount	Beg. Date	End Date
					To teach			-				
					Watercolor for the	Community						
Hsu	Alice	F.	Chabot	No	Kids on Campus	Education	Hourly	\$45.00	10	\$450.00	7/9/2012	7/20/2012
					To teach sports to							
					community	a						
					education students	Community				A 750.00	0/40/0040	7/00/00/0
Jackson	James	L.	Chabot	No	T (1 NA (1 1	Education	Hourly	\$25.00	30	\$750.00	6/18/2012	7/20/2012
					To teach Math and							
					Language Arts for the Kids on							
					Campus Program	Community						
Malek	Sonia	М.	Chabot	Yes	Campus Fiogram	Education	Hourly	\$35.00	17.5	\$612.50	6/18/2012	7/20/2012
Maier	Sonia	111.	Chabot	163	To teach computer	Luucation	Tioutiy	ψ00.00	17.5	ψ012.30	0/10/2012	1/20/2012
					classes to							
					community	Community						
Mockel	Dennis	E.	Chabot	No	education students	Education	Hourly	\$40.00	20	\$800.00	7/2/2012	7/20/2012
					To work as a camp			• • • • • •				
					counselor for Kids							
					on Campus	Community						
Perry	Joseph	M.	Chabot	Yes	Program	Education	Hourly	\$10.00	124	\$1,240.00	6/18/2012	7/20/2012
					To teach Fashion							
					Design to							
					community	Community						
Ragbotra	Kamal	nmi	Chabot	No	education students	Education	Hourly	\$25.00	19	\$475.00	6/18/2012	7/31/2012
					To teach Math and							
					Language Arts for							
					the Kids on	Community						
Santiago	Emily	E.	Chabot	No	Campus Program	Education	Hourly	\$45.00	45	\$2,025.00	6/18/2012	7/20/2012
					To teach Flash							
					Animation for the							
					Kids on Campus	Community						
Schwarz	Bill	F.	Chabot	No	Program	Education	Hourly	\$45.00	10	\$450.00	7/2/2012	7/20/2012

Informational Report for the July 17, 2012 Board of Trustees Meeting

				New Emp to			Pay			Maximum	Assign	Assign
Last Name	First Name	мі	Site	District	Duties	Division	Туре	Pay Rate Maxin	num	Amount	-	End Date
					To teach Math and							
					Language Arts for							
					the Kids on	Community						
Woll	Lauren	М.	Chabot	No	Campus Program	Education	Hourly	\$45.00	20	\$900.00	6/18/2012	7/20/2012
Chabot College					-							
					To provide sign	Disabled						
					language	Student						
					interpretation	Services and		• • • • • •		• · · · · · · · · ·		
Arent	Jacques	L.	Chabot	No	services	Programs	Hourly	\$40.00	300	\$12,000.00	7/1/2012	6/30/2013
					To provide sign	Disabled						
					language	Student						
					interpretation	Services and		* 40.00	050	* •••••••	7/1/00/10	0/00/0040
Brooks	Kwenu	nmi	Chabot	No	services	Programs	Hourly	\$40.00	850	\$34,000.00	7/1/2012	6/30/2013
					To provide sign	Disabled						
					language	Student Services and						
Davin	Anthony	N.	Chabot	No	interpretation	Programs	Hourby	\$40.00	300	\$12,000.00	7/7/2012	6/30/2013
Davin	Anthony	IN.	Chabot	INU	services To provide sign	Disabled	Hourly	Φ40.00	300	φ12,000.00	1/1/2012	0/30/2013
						Student						
					language interpretation	Services and						
Ferrell	Sarah	S.	Chabot	No	services	Programs	Hourly	\$35.00	200	\$7,000.00	7/1/2012	6/30/2013
	Jaran	0.	Onabot		To provide steno-	Disabled	riburry	ψ00.00	200	ψ1,000.00	1/1/2012	0/00/2010
					captioner services	Student						
					for hearing	Services and						
Flippin	Marilynn	A.	Chabot	No	impaired students	Programs	Hourly	\$32.00	200	\$6,400.00	7/1/2012	6/30/2013
	wanynn	/ \.	Chabot		To provide sign	Disabled	ricarry	ψ02.00	200	<i>\\\\</i> 0,100.00	1112012	0,00,2010
					language	Student						
					interpretation	Services and						
Goekler	Sarah	L.	Chabot	No	services	Programs	Hourly	\$32.00	200	\$6,400.00	7/1/2012	6/30/2013

Informational Report for the July 17, 2012 Board of Trustees Meeting

				New Emp to			Pay			Maximum	Assign	Assign
Last Name	First Name	мі	Site	District	Duties	Division	гау Туре	Pay Rate Max	imum	Amount	Beg. Date	End Date
					To provide sign	Disabled						
					language	Student						
					interpretation	Services and						
Green	Debbie	A.	Chabot	No	services	Programs	Hourly	\$40.00	25	\$1,000.00	7/1/2012	6/30/2013
					To provide sign	Disabled		T	_	+ ,		
					language	Student						
					interpretation	Services and						
Grigsby	Elizabeth	M.A.	Chabot	No	services	Programs	Hourly	\$50.00	50	\$2,500.00	5/16/2012	6/30/2012
					To provide sign	Disabled						
					language	Student						
					interpretation	Services and						
Hawkins	Susan	Α.	Chabot	No	services	Programs	Hourly	\$40.00	1000	\$40,000.00	7/1/2012	6/30/2013
					To provide sign	Disabled						
					language	Student						
					interpretation	Services and						
Lemke	Palladin	M.	Chabot	No	services	Programs	Hourly	\$35.00	150	\$5,250.00	7/1/2012	6/30/2013
					To provide sign	Disabled						
					language	Student						
					interpretation	Services and						
Lentz	MaryEllen	nmi	Chabot	No	services	Programs	Hourly	\$40.00	550	\$22,000.00	7/1/2012	6/30/2013
					To provide sign	Disabled						
					language	Student						
					interpretation	Services and						
Manzo	Melinda	nmi	Chabot	No	services	Programs	Hourly	\$40.00	150	\$600.00	7/1/2012	6/30/2013
					To provide sign	Disabled						
					language	Student						
					interpretation	Services and						
Mellenger	Mark	E.	Chabot	No	services	Programs	Hourly	\$35.00	400	\$14,000.00	7/1/2012	6/30/2013
					To provide steno-	Disabled						
					captioner services	Student						
					for hearing	Services and						
Moore	Rachel	M.	Chabot	No	impaired students	Programs	Hourly	\$32.00	1000	\$ 32,000.00	7/1/2012	6/30/2013

Informational Report for the July 17, 2012 Board of Trustees Meeting

				New								
Last Name	First Name	мі	Site	Emp to District	Dution	Division	Pay	Day Data	Maximum	Maximum	Assign Beg. Date	Assign End Date
Last Name	FIIST Mame		Sile	DISTRICT	To provide sign	Disabled	Туре	гау каше	Waximum	Amount	Beg. Date	End Date
					language	Student						
					interpretation	Services and						
Powell	Charlene	nmi	Chabot	No	services	Programs	Hourly	\$40.00	500	\$20,000.00	7/1/2012	6/30/2013
					To provide sign	Ū		+		+==;=====		
					language	Disabled						
					interpretation	Student						
	-				services	Services and		\$ \$\$\$		\$ 0,000,00	7/4/0040	0/00/0040
Simbra	Tanya	H.	Chabot	No		Programs	Hourly	\$30.00	200	\$6,000.00	7/1/2012	6/30/2013
					To provide sign	Disabled						
					language	Student						
					interpretation	Services and						
Vidal	Brandon	R.	Chabot	No	services	Programs	Hourly	\$35.00	200	\$7,000.00	7/1/2012	6/30/2013
					To provide sign	Disabled						
					language	Student						
					interpretation	Services and				•		
White	Alan	C.	Chabot	No	services	Programs	Hourly	\$35.00	1000	\$35,000.00	7/1/2012	6/30/2013
					To provide steno-	Disabled						
					captioner services	Student						
					for hearing	Services and		•		• • • • • • • •		
Yano	Nancy	C.	Chabot	No	impaired students	Programs	Hourly	\$32.00	200	\$6,400.00	7/1/2012	6/30/2013
Las Positas College												
					To provide skills							
					evaluation and							
					assess emergency							
					medical services							
					students							
Adkins	Lori	J.	Las Positas	No		Public Safety	Hourly	\$15.00	200	\$3,000.00	7/1/2012	6/30/2013
					To provide PRIDE							
					training for the							
					Foster and Kinship							
					Care Education	Foster and						
					Program	Kinship Care						
Battles	Faith	M.	Las Positas	No		Education	Hourly	\$65.00	200	\$13,000.00	7/1/2012	6/30/2013

Informational Report for the July 17, 2012 Board of Trustees Meeting

				New Emp to			Pay			Maximum	Assign	Assign
Last Name	First Name	МІ	Site	District	Duties	Division	Туре	Pay Rate	Maximum	Amount	Beg. Date	End Date
					To provide skills							
					evaluation and							
					asses Emergency	Emergency						
					Medical Services	Medical						
Bilotti	Brendalyn	C.	Las Positas	No	students	Services	Hourly	\$15.00	200	\$3,000.00	7/1/2012	6/30/2013
					To provide PRIDE							
					training for the							
					Foster and Kinship							
					Care Education	Foster and						
		_			Program	Kinship Care		* • - ••		* (* * * * *	= (() = 0 ()	
Buckner-Preston	Mia	D.	Las Positas	No		Education	Hourly	\$65.00	200	\$13,000.00	7/1/2012	6/30/2013
					To provide PRIDE							
					training for the							
					Foster and Kinship	Foster and						
	14	_			Care Education	Kinship Care		*••		\$40,000,00	7/4/0040	0/00/0040
Castro	Karen	E.	Las Positas	No	Program	Education	Hourly	\$65.00	200	\$13,000.00	7/1/2012	6/30/2013
					To conduct	Footor and						
					workshops for	Foster and Kinship Care						
Chanman	Jo	В.	Las Positas	No	parents and	Education	Hourly	\$75.00	200	\$15,000.00	7/1/2012	6/30/2013
Chapman	J0	D.	Las Positas	INU	caregivers To conduct	Education	HOULIY	\$75.00	200	\$15,000.00	7/1/2012	0/30/2013
					workshops for	Foster and						
					parents and	Kinship Care						
Chapman	Thomas	W.	Las Positas	No	caregivers	Education	Hourly	\$75.00	200	\$15,000.00	7/1/2012	6/30/2013
Onapman	Thomas	••.	Lus i Usitus		To provide skills	Education	riouriy	φ/0.00	200	φ10,000.00	1/1/2012	0/00/2010
					evaluation and							
					assess emergency							
					medical services							
					students							
Eberle	Christopher	S.	Las Positas	No		Public Safety	Hourly	\$15.00	200	\$3,000.00	7/1/2012	6/30/2013

Informational Report for the July 17, 2012 Board of Trustees Meeting

				New								
				Emp to			Pay			Maximum	Assign	Assign
Last Name	First Name	MI	Site	District		Division	Туре	Pay Rate N	laximum	Amount	Beg. Date	End Date
					To provide PRIDE							
					training for the							
					Foster and Kinship							
					Care Education	Foster and						
					Program	Kinship Care						
Evans-Mc Williams	Gwendolyn	Υ.	Las Positas	No		Education	Hourly	\$50.00	200	\$10,000.00	7/1/2012	6/30/2013
					To provde skills							
					evaluation and							
					assess Emergency							
					Medical Services	Emergency						
					students	Medical		• •		• • • • • • • •		
Francies	Naila	nmi	Las Positas	No		Services	Hourly	\$15.00	200	\$3,000.00	7/1/2012	6/30/2013
					To provide skills							
					evaluation and							
					assess Fire Service							
Freelen	George	Т.	Las Positas	No	Technology	Public Safety	Hourly	\$15.00	200	\$3,000.00	7/1/2012	6/30/2013
					To conduct							
					workshops for	Foster and						
					parents and	Kinship Care						
Gecox	Heike	nmi	Las Positas	No	caregivers	Education	Hourly	\$50.00	200	\$10,000.00	7/1/2012	6/30/2013
					To provide sign	Disabled						
					language	Student						
					interpretation	Programs and						
Grigsby	Elizabeth	M.A.	Las Positas	No	services	Services	Hourly	\$50.00	50	\$2,500.00	4/17/2012	6/30/2012
					To provide	Business,						
					automotive training	Computing, and						
					for General Motors	Applied						
Hagopian	Brian	J.	Las Positas	No		Technology	Hourly	\$53.00	920	\$48,760.00	7/1/2012	12/31/2012
					To provide PRIDE							
					training for the							
					Foster and Kinship							
					Care Education	Foster and						
					Program	Kinship Care		•		• • • • • • •		
Hauser	Gerry	Α.	Las Positas	No		Education	Hourly	\$50.00	200	\$10,000.00	7/1/2012	6/30/2013

Informational Report for the July 17, 2012 Board of Trustees Meeting

				New								
Last Name	First Name	мі	Site	Emp to District	Dution	Division	Pay Tuno	Boy Boto	Movimum	Maximum Amount	Assign Beg. Date	Assign End Date
Last Marine	FIISUNAIL		Sile	DISTRICT	To provide skills	DIVISION	Туре	гау каle	Maximum	Amount	Beg. Date	
					evaluation and							
					asses Emergency	Emergency						
					Medical Services	Medical						
Heller	Jonathan	C.	Las Positas	No	students	Services	Hourly	\$15.00	200	\$3,000.00	7/1/2012	6/30/2013
					To provide skills		,			. ,		
					evaluation and							
					asses Emergency	Emergency						
					Medical Services	Medical						
Helstrom	Zel	D.	Las Positas	No	students	Services	Hourly	\$15.00	200	\$3,000.00	7/1/2012	6/30/2013
					To provide skills							
					evaluation and							
					asses Emergency	Emergency						
	-	14			Medical Services	Medical				* ~ ~~~ ~~	7/4/00/40	0/00/0040
Hogue	Terrance	K.	Las Positas	NO	students	Services	Hourly	\$15.00	200	\$3,000.00	7/1/2012	6/30/2013
					To provide skills evaluation and							
					assess emergency	Emergency						
	A h h a		Las Positas	No	medical services	Medical Services	Llouwh	\$15.00	200	\$3,000.00	7/1/2012	6/30/2013
Holback	Abbey	M.	Las Positas	No	To provide skills	Services	Hourly	φ15.00	200	\$3,000.00	7/1/2012	0/30/2013
					evaluation and							
					assess Fire Service							
	Distant			NIa	Technology		Laure	¢45.00	200	¢0,000,00	E/00/0040	7/0/0040
Holback	Richard	Α.	Las Positas	No		Public Safety	Hourly	\$15.00	200	\$3,000.00	5/29/2012	7/9/2012
					To conduct workshops for	Foster and						
					parents and	Kinship Care						
Kyer	Beverly	D.	Las Positas	No	caregivers	Education	Hourly	\$75.00	200	\$15,000.00	7/1/2012	6/30/2013
	Doveny		Laoroniao		To provide	Laudation	lically	<i></i>	200	\$10,000100	17 17 20 12	0,00,2010
					coordination and							
					training for the							
					Foster and Kinship							
					Care Education							
					Program	Early Childhood						
Loyola	Anne	L.	Las Positas	No		Development	Hourly	\$45.00	450	\$20,250.00	7/1/2012	6/30/2013

Informational Report for the July 17, 2012 Board of Trustees Meeting

				New								
				Emp to			Pay			Maximum	Assign	Assign
Last Name	First Name	MI	Site	District		Division	Туре	Pay Rate	Maximum	Amount	Beg. Date	End Date
					To conduct							
					workshops for	Foster and						
	.	1.			parents and	Kinship Care	I. I. s. s. also		400	# 7 500 00	7/4/0040	0/00/0040
Maselli	Robert	J.	Las Positas	No	caregivers	Education	Hourly	\$75.00	100	\$7,500.00	7/1/2012	6/30/2013
					To provide skills							
					evaluation and	Emorgonov						
					asses Emergency Medical Services	Emergency Medical						
McClendon-Hinnenkamp	Wendy		Las Positas	No	students	Services	Hourly	\$15.00	200	\$3,000.00	7/1/2012	6/30/2013
Mcclendon-i innenkamp	wendy	<u>L</u> .		INU	To conduct	00111003	riouriy	ψ10.00	200	ψ0,000.00	1/1/2012	0/30/2013
					workshops for	Foster and						
					parents and	Kinship Care						
McClure	Christopher	Т.	Las Positas	No	caregivers	Education	Hourly	\$50.00	100	\$5,000.00	7/1/2012	6/30/2013
				-	To provide PRIDE		,			. ,		
					training for the							
					Foster and Kinship							
					Care Education	Foster and						
					Program	Kinship Care						
McMillian	Rosalind	D.	Las Positas	No		Education	Hourly	\$65.00	200	\$13,000.00	7/1/2012	6/30/2013
					To provide skills							
					evaluation and							
					asses Emergency	Emergency						
					Medical Services	Medical				* •• ••• ••	7/4/0040	0/00/0040
McPeak	Christopher	L.	Las Positas	No		Services	Hourly	\$15.00	200	\$3,000.00	7/1/2012	6/30/2013
					To provide sign	Disabled Student						
					language	Services and						
Peel	Antonia	G.	Las Positas	No	interpretation services	Programs	Hourly	\$50.00	50	\$2,500.00	5/16/2012	6/30/2012
		0.	Las FUsilds	UV	To provide support	Foster and	Tiouny	φυ0.00	50	φ2,300.00	5/10/2012	0/30/2012
					for PRIDE classes	Kinship Care						
Powell	Yvette	L.	Las Positas	No		Education	Hourly	\$22.00	300	\$6,600.00	7/1/2012	6/30/2013

Informational Report for the July 17, 2012 Board of Trustees Meeting

				New								
				Emp to			Pay			Maximum	Assign	Assign
Last Name	First Name	МІ	Site	District	Duties	Division	Туре	Pay Rate	Maximum	Amount	Beg. Date	End Date
					To provide PRIDE							
					training for the							
					Foster and Kinship							
					Care Education	Foster and						
Dilau	Claria	•		NIa	Program	Kinship Care	Llauritur	۴ ۲0.00	200	¢10,000,00	7/4/0040	0/20/2042
Riley	Gloria	Α.	Las Positas	No		Education	Hourly	\$50.00	200	\$10,000.00	7/1/2012	6/30/2013
					To provide PRIDE training for the							
					Foster and Kinship							
					Care Education	Foster and						
					Program	Kinship Care						
Roberts-Brewer	Akilah	V.	Las Positas	No	rogram	Education	Hourly	\$65.00	200	\$13,000.00	7/1/2012	6/30/2013
				-	To provide PRIDE		,			· · · · · · · · · · · · · · · · · · ·		
					training for the							
					Foster and Kinship							
					Care Education	Foster and						
					Program	Kinship Care						
Stewart-Felix	Paula	D.	Las Positas	No		Education	Hourly	\$50.00	200	\$10,000.00	7/1/2012	6/30/2013
					To conduct	E a chan a su d						
					workshops for	Foster and Kinship Care						
Troadon	Pamela	C.	Las Positas	No	parents and	Education	Hourly	\$50.00	200	\$10,000.00	7/1/2012	6/30/2013
Trogdon	Failleia	0.	Las Pusilas	INU	caregivers To provide skills	Education	Houny	\$ 50.00	200	φ10,000.00	7/1/2012	0/30/2013
					evaluation and							
					asses Emergency	Emergency						
					Medical Services	Medical						
Voelker	Kathryn	M.	Las Positas	No	students	Services	Hourly	\$15.00	200	\$3,000.00	7/1/2012	6/30/2013
					To provide skills							
					evaluation and							
					assess emergency							
					medical services			• · -		•		
Wada	David	S.	Las Positas	No		Public Safety	Hourly	\$15.00	200	\$ 3,000.00	7/1/2012	6/30/2013

Informational Report for the July 17, 2012 Board of Trustees Meeting

				New Emp to			Pay			Maximum	Assign	Assign
Last Name	First Name	мі	Site	District	Duties	Division	Туре	Pay Rate	Maximum	Amount	Beg. Date	End Date
					To provide sign			-				
					language	Disabled						
\A/altana	Flincheth	-		NIa	interpretation	Student Services	Lloumbr	¢50.00	50	\$2,500.00	0/47/0044	E/04/0040
Walters	Elizabeth	E.	Las Positas	No	services To provide skills	Services	Hourly	\$50.00	50	\$2,500.00	8/17/2011	5/31/2012
					evaluation and							
					asses Emergency	Emergency						
					Medical Services	Medical						
Ward	Scott	D.	Las Positas	No	students	Services	Hourly	\$15.00	200	\$3,000.00	7/1/2012	6/30/2013
					To conduct							
					workshops for	Foster and						
	Karan	R.	Las Positas	No	parents and	Kinship Care Education	Llourby	ሮፖር ባብ	200	¢15 000 00	7/1/2012	6/30/2013
Wells	Karen	к .	Las Positas	INO	caregivers To provide	Education	Hourly	\$75.00	200	\$15,000.00	7/1/2012	6/30/2013
					coordination							
					services for the	Emergency						
					Emergency Medical							
Wong	Sebastian	E.	Las Positas	No	Technology	Services	Hourly	\$56.00	200	\$11,200.00	7/1/2012	6/30/2013
					To provide skills							
					evaluation and							
					asses Emergency	Emergency						
144	Oshaatiaa	_		N	Medical Services	Medical	Llaundur	#45 00	000	* 0.000.00	7/4/0040	0/00/0040
Wong	Sebastian	E.	Las Positas	No	students To provide PRIDE	Services	Hourly	\$15.00	200	\$3,000.00	7/1/2012	6/30/2013
					training for the							
					Foster and Kinship							
					Care Education	Foster and						
					Program	Kinship Care						
Stewart-Felix	Paula	D.	Las Positas	No		Education	Hourly	\$50.00	200	\$10,000.00	7/1/2012	6/30/2013

Informational Report for the July 17, 2012 Board of Trustees Meeting

Last Name	First Name	мі		New Emp to District	Duties	Division	Pay Type	Pay Rate	Maximum	Maximum Amount	- 3	Assign End Date
					To provide PRIDE training for the Foster and Kinship Care Education Program	Foster and Kinship Care						
Wilkins	Quincy	L.	Las Positas	No		Education	Hourly	\$65.00	200	\$13,000.00	7/1/2012	6/30/2013